
6A Introduction to Hyperbolic Functions 

 

 

 

 

 

 

 

 

 

 

 

 



𝑠𝑖𝑛ℎ𝑥      𝑐𝑜𝑠𝑒𝑐ℎ𝑥 

 

 

 

 

𝑐𝑜𝑠ℎ𝑥      𝑠𝑒𝑐ℎ𝑥 

 

 

 

 

𝑡𝑎𝑛ℎ𝑥      𝑐𝑜𝑡ℎ𝑥 

 

 

 

 

 

1. Find, to 2 decimal places, the value of: 

a) sinh 3 

 

 

 

 

b) cosh 1 

 

 

 

 

c) tanh 0.8 

 

 

 



2. Find the exact value of: 

tanh(𝑙𝑛4) 

 

 

 

 

 

 

 

 

 

3. Find the value of 𝑥 for which sinh 𝑥 = 5. Give your answer to 2 decimal places. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



4. Sketch hyperbolic function 

a) 𝑦 = sinh 𝑥 

 

b) y = cosh 𝑥 

 

c) 𝑦 = 𝑡𝑎𝑛ℎ 𝑥 

 


